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408   ntw;wpf;F top   - 10Mk; tFg;G fzf;F 

  
 

 

 

 

 

 
 
 

t.vz; jpz;kk; glk; 
tisgug;G / 
gf;fg;gug;G  
(r.m) 

nkhj;jg;Gwg;gug;G 
(rJu myFfs;) 

fd msT 
(fd myFfs;) 

1 
Neh;;tl;l 
cUis 

 

 
 

2𝜋𝑟ℎ 2𝜋𝑟(ℎ + 𝑟) 𝜋𝑟2 ℎ 

2. 
cs;sPlw;w 
cUis 

 

 
 

2𝜋ℎ(𝑅 + 𝑟) 
2𝜋 (𝑅 +  𝑟) 
(𝑅 − 𝑟 +  ℎ) 

𝜋(𝑅2 − 𝑟2) 
(Or) 

𝜋(𝑅 + 𝑟)(𝑅 − 𝑟) 

3 
Neh;tl;lf; 
$k;G 

 

 
 

𝜋𝑟𝑙 
 

[𝑙 = √ℎ2 + 𝑟2

 ℎ = √𝑙2 − 𝑟2

  𝑟 = √𝑙2 − ℎ2]

 

 

𝜋𝑟(𝑙 + 𝑟) 
1

3
 𝜋𝑟2ℎ 

4 Nfhsk; 

 

 
 

4𝜋𝑟2 4𝜋𝑟2 
4

3
 𝜋𝑟3 

5 
miuf; 
Nfhsk; 

 

 
 

2𝜋𝑟2 3𝜋𝑟2 
2

3
𝜋𝑟3 

6 
cs;sPlw;w 
miuf; 
Nfhsk; 

 

 
 

2𝜋(𝑅2 + 𝑟2) 
𝜋(3𝑅2 + 𝑟2) 

 

2

3
𝜋(𝑅3 − 𝑟3) 

7 

 
Neh;tl;lf; 
$k;gpd; 
,ilf; 
fz;lk; 

 
 

 
 

𝜋(𝑅 + 𝑟)𝑙 
(𝑙 = √ℎ2 + (𝑅 − 𝑟)2) 

 

𝜋𝑙(𝑅 + 𝑟) + 𝜋𝑅2 
                 +𝜋𝑟2 

 

  
1

3
 𝜋ℎ(𝑅2 + 𝑟2 + 𝑅𝑟) 

 

7. mstpay; 

epidtpy; nfhs;s… (gapw;rp 7.1 kw;Wk; 7.2) 
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409 ,ay; 7 – mstpay; 

t. 
vz; 

jpz;kk; glk; tisgug;G / 
gf;fg;gug;G  (r.m) 

nkhj;jg;Gwg;gug;G 
(rJu myFfs;) 

fd msT  
(fd myFfs;) 

8 
cs;sPlw;w  
Nfhsk; 

 

4𝜋𝑅2 = 
ntspg;Gw 
tisg;gug;G 

4𝜋(𝑅2 + 𝑟2) 
 

4

3
𝜋(𝑅3 − 𝑟3) 

 

9 
fdr; 

nrt;tfk; 

 

2ℎ(𝑙 + 𝑏) 
 
 

2(𝑙𝑏 + 𝑏ℎ + 𝑙ℎ) 

 
𝑙 × 𝑏 × ℎ 

 

10 
fdr; 
rJuk; 

 

4𝑎2 
 

6𝑎2 
 

𝑎3 
 

 
 
 
 
 
 
 
 
 

 
 
 
 ,uz;L my;yJ mjw;F Nkw;gl;l jpz;kq;fis ,izg;gjd; %yk; fpilf;Fk; xU 

jpz;kk; ‘,ize;j cUtk;’ vdg;gLk;.  

 ,U jpz;k cUtq;fspd; fd msTfspd; $Ljy; ,ize;j cUtj;jpd; fd msT MFk;.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 

 

 xU jpz;kj;ij cUf;fp my;yJ cUtj;ij kw;nwhU cUtkhf khw;Wk; NghJ fd 
msT khwhJ.  

 fd msTfis rkg;gLj;Jtjd; %yk; fz;lwpa Ntz;ba msTfisf; fhzyhk;.   

 tpdhtpy; “vj;jid” Nghd;w thh;ijfs; ,Ug;gpd; gpd;tUk; #j;jpuj;ij gad;gLj;jTk;.          

Njitahd vz; = 
nghpa cUtj;jpd; fd msT 

rpwpa cUtj;jpd; fd msT
 

 myF tha;g;ghL:  

10 nr.kP = 1 nlrp.kP,        100 nr.kP = 1kP 
1 nr.kP 3=1 kp.yp 
1000 nr.kP 3= 1 ypl;lh; 
1000000 nr.kP 3 =1 kP 3 = 1000 ypl;lh;. 

 

epidtpy; nfhs;s… 

gapw;rp 7.3 – f;fhd mwpKfk; 

 

epidtpy; nfhs;s… 
 

gapw;rp 7.4 – f;fhd mwpKfk; 

 

mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

